ﬁ@e@

‘2

elecftric powered

CONVERSION KIT
INSTRUCTION MANUAL

& REFERENCE GUIDE



¢ CAGlue

To prevent the risk of the carbon fibre
splitting in the event of a crash you
should apply CA Glue around the chas-
sis" edge and the front chamfer as
shown in red below.

20T

STEP

STEP

M3x6 T

M3x10

... 5x8x2.5

M3x6




10.1 10.2

STEP

9

STEP

STEP

11

|
=

= ——————




KNote: Cut 8 mm each extreme of the rear\ STEP
anti-roll bar before asseling it.

8 mm

.

e ———————————

"~

STEP

Page



20.1
&,\lo\ 5x8x2.5

X 7
4
8x5x2.5 Flanged—
M3x14

g

M3x6

~N

Q| ¢

INCLUDED
NOT INCLUDED ~

A,

Tip: Use double sided tape
to mount the ESC to the
chassis, and RX to the top
part of the servo (if there
is no enough space on the
chassis).

STEP

X

STEP

24

Page

9

Nylock nut M3 ;

H 3x5x2

[}
M4 Flanged

M4 Flanged ®

Nylock nut M3
e




EXPLODED VIEW CONVERSION KIT PARTS-LIST CONVERSION KIT

Part no Description

110448 Shim 3x6x6 (10)

401058 Rod threaded arb L/R 16mm (4)
401399 Bearingmount middleshaft alu
411157 Screw allen countersunk M3x10 (10)
411207 Balljoint 4.5 short (2)

411253 Pivotball uni 4.5mm (4)

804112 Pulley 2sp shaft 20+21T (2)
804113 Pulley middle 18+21T (2)

804278 Anti-rollbar bracket carbon RR (2)
804309 Batterymount Carbon 747E
804310 Belt tensioner bracket 747E (2)
804311 Bracket middleshaft L 747E
804312 Bracket middleshaft R 747E
804313 Chassis carbon 747E

804315 Topdeck carbon 747E

804316 Belt 40S3M516 low friction
804317 Midshaft 747E

804318 Servomount set 747E

38
////110122

110124

////110128
3
‘-
804318

|////110207
////804317

Please, see parts-list

for numbers

110108

n f
§\. 2 2 3 v 901255  Belt tensioner shaft and nut
o g b B S 901255 Belt tensioner shaft and nut
§ o ¥ b g 903231 Ball-joints frame 14+6+2
~= I\ fa
< \ / N 2 Spur gears
= i ,. 2@ ‘/ 3 120015  Spur gear 48P / 69T
2 .«% A ﬁ - 120016  Spur gear 48P / 72T
§ § e "\ 120017 Spur gear 48P / 75T

411207
110448

Pinions
120155 Motor-pinion alu hard 48P /17T
120156 Motor-pinion alu hard 48P /18T
120157 Motor-pinion alu hard 48P /19T
120158 Motor-pinion alu hard 48P /20T
120159 Motor-pinion alu hard 48P /21T
120160 Motor-pinion alu hard 48P /22T
120161 Motor-pinion alu hard 48P /23T
120162 Motor-pinion alu hard 48P /24T
-l 120163 Motor-pinion alu hard 48P /25T
- 1 120164 Motor-pinion alu hard 48P /26T

gl

110109
110108

401399
hﬁn

120165 Motor-pinion alu hard 48P /27T

~

110109
804309
110127

¥

110122

804310
0\1 10402
e

804309

]

\©

110108

804315
804313

Page




- >4

electric powered

www.serpent.com - info@serpent.com

Manual / ref guide 747e conversion kit version 1



